02/11/2020
LO: addition and subtraction.
Yellow Task – Section A; Orange Task – Section B; Red Task – Section C
[image: ]
Yellow Task – Section A; Orange Task – Section B; Red Task – Section C
[image: ]	

Yellow Task – Section A; Orange Task – Section B; Red Task – Section C
[image: ]


03/11/2020
LO: multiplication.
Yellow Task – Section A; Orange Task – Section B; Red Task – Section C
[image: ]
Section A
[image: ]

Section B
[image: ]
Section C
[image: ]
04/11/2020
LO: division.
Yellow Task – Section A; Orange Task – Section B; Red Task – Section C
Section A: short division
[image: ]
Section B: short division
1. 472 ÷ 4 =
2. 968 ÷ 8 =
3. 904 ÷ 2 =
4. 765 ÷ 5 =
5. 895 ÷ 5 =
6. 8,792 ÷ 7 =
7. 9,180 ÷ 6 =
8. 11,562 ÷ 3 = 
9. 32,832 ÷ 9 =
10.  28,480 ÷ 8 =















	

Section C: long division – use the chunking method
[image: ]


Section C continued: problems
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05/11/2020
LO: equivalent fractions.
Yellow Task – Section A; Orange Task – Section B; Red Task – Section C
Section A
[image: ]
Section B – see additional worksheet














Section C
1.	Two of the fractions below are equivalent.
	Circle them.
[image: ]	[image: ]	[image: ]	[image: ]	[image: ]	[image: ]

	
2.	Complete these fractions to make each equivalent to [image: ]
[image: ]      [image: ]
  







3.	Karen makes a fraction using two number cards.	[image: ]
	She says,
‘My fraction is equivalent to [image: ]
One of the number cards is 6’
[image: ]	What could Karen’s fraction be?
	Give both possible answers.





4.	Write these fractions in order of size starting with the smallest.
	[image: ]	[image: ]	[image: ]	[image: ]
[image: ]	[image: ]	[image: ]	[image: ]	[image: ]
	smallest




5.	Which is larger, [image: ] or [image: ]?
[image: ] ……………………………….
	Explain how you know.
[image: ] 	...............................................................................................................................
...............................................................................................................................
...............................................................................................................................

6.	Tick ([image: ]) two cards that give a total of 5
[image: ]
[image: ]










06/11/2020
LO: simplifying fractions.
Yellow Task – Section A; Orange Task – Section B; Red Task – Section C
Section A
[image: Textbook 6A, page 106]
[image: Textbook 6A, page 107]
Section B
[image: ]
[bookmark: _GoBack]Section C
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25

100
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1
25=1x25 100= 1x100
25=5x 5 100= 2x 50
25 _1 100 = 4x 25
100 4 100=5x 20
100=10x 10
5 and 25 are common factors
of 25 and 100.

Why do we divide by 25 instead of by 5?

Guided Practice

o Simplify each fraction.

Fractions

2.
s

Page 106

)
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e Which fraction is not in its simplest form?
Write each in its simplest form.

1 2 3
6 6 6
1 4 6 4 is always a fraction in its
12 12 12

simplest form. Is this true?
1 2 3
9 9 9

Complete Worksheet 1 — Page 59 - 60

Fractions Page 107
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Here are examples of Dexter's maths
work.

He has made a mistake in each question.

Can you spot it and explain why it's
wrong?

Correct each calculation.




image6.png
132
T2 Use this method to calculate:
x
5 2 8 (132x4) 264x14  264x28
2 0
1E (132 10)What do you notice about your
answers?

I A playground is 128 yards by 73 yards.

Calculate the area of the playground.




